Flux

Deviation [sigma]

20

10

-10

-20

Deviation [sigma]

20

10

-10

-20

Deviation [sigma]

20

10

-10

-20

4U1728-34-JEMX1-MJID54734.126586_|c.txt / MJID 54734.126621 / burstid=7126

; “ Grey line: exponential fit Peak flux: 5.276+/- 1.230 c/s/cm? ;
| Black Iing: p.ower law + gauss fit Fluence : 28.07+/- 4.76 clcm? |
H Dashed line: power law i
- || Duration: 8.99+/- 1.81s -
B b Best fit model: 1. n
B ', Best fluence model: 1. ]
L :I} Best duration model: 1. _
L Iw i
| } _
|
: L 4l Ll
L H} | \ l H\\ﬂu}‘ It
N T e e U e e
I xmx PHTE T, TR N LTI H L R U
; Exponential fit é
= Expon.time: 2.40+/- 0.47 s (chi*red= 1.40) =
= + =
= i f ft b I it Fi
= il W ﬂiﬁ f “*W Mﬂ#ﬂw**w WWHH HwwTHTﬁﬂ+%mﬁH:wmww WW*+ﬁ+“WWM il ﬂ**Hﬁﬁﬂ+ﬂWﬁﬁﬁﬁ*ﬁ“ﬂ ﬂﬂﬁﬁ+ﬂﬁmmﬂﬂwﬁﬁ
= pood f f =
; Power law fit é
E Power law index: -1.731+/- 0.229 (chi*-red= 1.45) =
= i B it " + bl ol :
= MH I Wﬂm + f ﬂ%} f wﬁw NWHHHW Wﬁu TH {ﬁwﬁwﬁ Tﬁwﬂﬁﬁ#wﬁﬁﬂmﬁ Wﬁwm *f*ﬂ%WWM i i *ﬁ ***+H****Wﬁﬁwﬂ W w*WWW%
= (N f f =
i I T T T T T T T T T I T T T T T T T T T I T i
— Power law fit plus Gaussian (st.dev.=******+/-***** g, fracgs= 0.00+/- 0.00) =
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